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1. Which of the following are true?

a) 2 2
cosec B —cot 6 =1,0=6=<090°

b) . 2 2

sec 6 —tan 6 =1,0=<6=<90°
C) .2 2

sin © —cos 8 =1,0=<6=<90°
d) 2 2

cosec 8 +cot 6 =1,0=6=<90°
e) 2 2

sec © +tan 6 =1,0=6=<90°
f) . 2 2

sin 8 +cos 6 =1,0=6=<090°

(i) {e,cf} (i) {a,bf} (iii) {d,a,b} (iv) {c,a} (v) {d,b}

.2 .2
sin 5° + sin 85°
2. 2 =
cos 75° + cos 15°

(i) 1 (ii) undefined (iii) -1 (iv) 2 (v) O

3. Which of the following are true?

a) .
1 + sin6
(secb — tane)2 = -
1 —sin6
b)
cosO cosO
+ = 2
1 —sin® 1 + sin®
1 + sin® cosO
+ - = 2secb
cosO 1 + sin®
d) .
1 —sin®
(secb — tane)2 = -
1 + sin6
cosO cosO
+ = 2tan6

cosecH + 1 cosecH — 1

(i) {a,b,e} (i) {b,d} (ii) {a,cd} (iv) {cd,e} (v) {ac}



4. Which of the following are true?

cosO 1 —sin®

1+ sin® cos6
b) . 2 .

(sin® —cosB)” = 1 + sin26
o . 2 .

(sin® + cos®)” = 1 + sin26
d)

secO 1 — cosecbO

1 + cosecH secO
e) 3 .3 . .

cos O —sin 6 = (sin® + cosO)(1 — sinBcosO)
f)

3 3
cos 6 +sin B = (sin® + cosB)(1 — sinBcosB)

(sin® + cose)2 + (sin® — cose)2 = 2

(i) {eb,f} (i) {d,c} (i) {acfg} (iv) {d,g,a} (v) {b,a}
5. If v=cos0 + sin®, w=cos06sin6 then

M) (V+w?) =0 (i) (VP=w?) =1 (i) (VP+w?) =1 (iv) V2 = (2w+1) (V) V2 = (=2w+1)

6. If x=cos6 + sinB,y=cos6 — sinB then

(i) (x2+y2) =2 (i) (X2+y%) =1 (i) (x¥2=y2) =2 (iv) (¥2=y2) =1 (v) (X2+y%) =0

A (R+2) = n?

b) 24> = 12 sin26

) (y+22=n?

® (2-2) = p?
(i) {c,a} (i) {eb} (i) {c,a,b} (iv) {ced} (v) {ab,d}

8. If b=xcosBO + ysin® and c=xsin® — ycosH, then

() bc = xy (i) (B2+c2) = (xX2+)2) (i) (x¥2+b2) = (V2+2) (iv) (b2=C2) = (x2—)2?)
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